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m/s m/s m/s m/s
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(EBr2 —1) ¥BbLYOEEIIm = 0.0250 kg
M H | P PQ v L wrHO TR Rk
;E’;i EE%E A= VI TEE) T KL F— A E vz
flg | DS hl | S U | K ) -

g
A | 2] 0.0376 | 0.200
A | 2] 0.0376 | 0.300
A | 2] 0.0376 | 0.400
A | 4| 0.0752 | 0.200 1.12| 0.04900 | 0.01568 0.0333 1.25
A | 4] 0.0752 | 0.300 1.36| 0.07350 | 0.02312 0.0504 1.85
A | 4| 0.0752 | 0.400 1.57| 0.09800| 0.03081 0.0672 2.46
A | 6 | 0.1128 | 0.200 0.97| 0.04900| 0.01176 0.0372 0.94
A | 6 | 0.1128 | 0.300 1.18| 0.07350 | 0.01741 0.0561 1.39
A | 6 | 0.1128 | 0.400 1.37| 0.09800| 0.02346 0.0745 1.88
(FBr2 —2) ¥BLYOEEIEIm = 0.0250 kg
B E D R | PQ T I (R V2 (B
iz %E E:i B v N = L% — )= L F— A 7 v2
g | BE i | S U@ | K o
g

B | 2| 0.0130 | 0.200
B | 2| 0.0130 | 0.300
B | 2| 0.0130 | 0.400
B | 4 | 0.0260 | 0.200 1.69| 0.04900| 0.03570 0.0133 2.86
B | 4 | 0.0260 | 0.300 2.06| 0.07350| 0.05305 0.0205 4.24
B | 4 | 0.0260 | 0.400 2.37| 0.09800| 0.07021 0.0278 5.62
B | 6 | 0.0390 | 0.200 1.61| 0.04900| 0.03240 0.0166 2.59
B | 6 | 0.0390 | 0.300 1.97| 0.07350 | 0.04851 0.0250 3.88
B | 6 | 0.0390 | 0.400 2.27| 0.09800| 0.06441 0.0336 5.15

K=-mv?, U=mgh

(g=9.80m/s2L L CRHHEE X,).

AE =U—-K
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